X
N

T T T T T TT]TTTT

2

3

TP n (PCA to beamline)

< o cot(y) >
o
=
a1

0.05]

-0.05

-0.15

x107°

Ratio

LI L L L L L L L 1 L

w

0 1 2 3

—=— DQM_mKFit_TT_base
—e— DQM_mKFit_TT_retrain_noCandDNN
—+— DQM_mKFit_TT_retrain

100

(23 e ]
o O
TT

< 00, > (M)
D
o

20

|
[0
o

T

............................................

[y

5010 2 i 0
-2 -1 0 1 2

3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

R AR : -

.........

2

3

TP n (PCA to beamline)

<od,> (um)

o
T T T TT T T TTT
: * :

4

| - 2Nl -- T4 H-

-

|
w

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


